CHAPTER 1 NUMBER SYSTEMS

Question 1. Find :

Solution:
1
(i) 642
We know that

1
a® =3a. where a = 0.

1
We conclude that64' can also be written as

ies =i <3
64 =3fzxg =8

1
Therefore, the value of 64 will be 8.

1

(i) 32°
We know that

1
a® =¥a, where a = 0.

1
We conclude that323 can also be written as



Therefore, the value of 327 will be 2.

!

(iii) 1237

We know that

1
a® =sfa, where a = 0.

—

We conclude thatus: can also be written as

125 =35%5x

L

125 =35 5%5 =5

1
Therefore, the value of1253 will be 5.

Question 2. Find:

We know that

1
a® =sfa, where a = 0.



We conclude thatQ: can also be written as

I
Lid
et
L
Lid
e
s
Ll

27

Therefore, the value of 91

(i)

We know that

a® =¥, where g = 0.

wnlka

32

We conclude that

will be 27.

can also be written as

Therefore, the value of

(iii) 167

We know that

a® =3fa. where a = 0.

3

We conclude that163

L)

32

will be 4.

can also be written as



Therefore, the value of163 will be 8.

-

(iv) 125°-

We know that

1

=1 1 — |

We conclude that123° can also be written as 125 , orvi43/

We know that

1

a® = -ffc; where g =10

—
b | =
LA

T e

We know that:'* " can also be written as

1) _J1 11
yuzs) Y5 s57s)
_1
=5

1 1

-

Therefore, the value ofu'5 * willbe 3 .

Question 3. Simplify :
1

3 95

| b2

(i)



-

(iv)7°-8

Solution:

21 21
25.25 =(2)53
ol e 13
23.2 =(2)T8 =(2)B
101 B
e E LI (2]
Therefore, the value of<" -=" willbe*
37 .
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We know that? & =4d
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33 . 3: .

We conclude that - < can also be written as

[ =

11
-1

(iiiy 11%

We know that



112

1
1

Therefore, the value of 11* will bellz.

1

(iv) 7~ -8

ba] -

We know that

We can conclude that

Ll 1
77.87 =(7x8)7
1 1 1 1
71.87=(7x8)7 =(56)2
1 1 L
1 g3 (56

Therefore, the value of 7 -8 will be

]



